RxSwift VS ReactiveSwift
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difference between RxSwift and ReactiveSwift

Hot Obserbable<Int> Signal<Int, Never>
Cold Obserbable<Int> SignalProducer<Int, Never>

1. ReactiveSwiftiZ. Hot / Cold % BA#EIZ X B,
2. ReactiveSwiftiZ. Error® T #f5E TX A,




ReactiveSwiftiE, Hot / ColdZ BH#EIZ X 5H](1)

// ObserverZz4&md 3
let signalObserver = Signal<Int, NoError>.0bserver(
value: { value in
print(" : value)")
}, completed: {
print("
}, interrupted: {
print("
}

// SignalZ4&md %
let (output, input) = Signal<Int, NoError>.pipe()
//Send value to signal
for i in 0..<10 {
DispatchQueue.main.asyncAfter(deadline: .0 * Double(i)) {
input.send(value: i)

// Signal%zEHT 3

output.observe(signalObserver)




ReactiveSwiftiE, Hot / Cold %z BH#EIZ X H](2)

let someRequest = SignalProducer<Void, NSError> { (innerObserver, disposable) in

sendRequest(request) { result in
switch result {
case .success(value):
innerObserver.send(value: value)
innerObserver.sendCompleted()
case .failure(error):

innerObserver.send(error: error)

}

someRequest.startWithResult { result in
switch result {
case let .success(value):
print( value)")
case let .failure(error):

print( error)")




Hot / ColdZ BHHEIZ X BT~ 2 Z & DA g Ly

ex. RxSwift

let subject = PublishSubject<ApiModel>() // PublishSubjectidHot
let userName = subject.map{ "Mr." + $0.items[@].login } // mapL TColdicZi

// 2[Elsubscribe® %

userName
.subscribe(onNext:{ name in
print(name)
})

.disposed(by: self.disposeBag)

userName
.subscribe(onNext:{ name in
print(name)
})

.disposed(by: self.disposeBag)
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ReactiveSwiftiE. Error® 52+ ETZ 5(1)

ex. RxSwift

// RxSwift DFH
let myObservable: Observable<Int> = ..

myObservable
.subscribe(onError: { error in
guard let myError = error as? MyError {

/] CZIFKDBZEFBVWEWS"IBROTR"IDEET S
return
}

/] AT B
})
.disposed(by: disposeBag)
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ReactiveSwiftiE. Error® T2+ ETZ 5(2)

ex. ReactiveSwift

// ReactiveSwift DIHE
let myProducer: SignalProducer<Int, MyError> = ...

myProducer.startWithFailed { (myError: MyError) in
// myError & MyError BEWSZENIVNNAILEICRIEES NS |
}

T — ORI g XA JVEFITAREECTX A !

// TZ7—®O&H NoError
let noErrorProducer: SignalProducer<Int, NoError> = ...
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Observing changes to a simple Ul control

-priceSignal
+pricelLabel.reactive.text <~ priceSignal

.map { "\($0) UsD" }
- .bindTo(priceLabel.rx.text)
- .addDisposableTo(disposeBag)

disposed(by: self.disposeBag)
we < T,




Creating a Network

-func load<A>(_ resource: Resource<A>) -> Observable<A> {

- return Observable.create { observer in API % I:II‘J <

+func load<A>(_ resource: Resource<A>) -> SignalProducer<A, AnyError> {

+ return SignalProducer { observer, disposable in L
print("start loading") /fﬁ‘[J ‘(\“J:': $§a
self.load(resource) { result in

sleep(1)
switch result {
case .error(let error):

- observer.onError(error)

+ observer.send(error: AnyError(error))

case .success(let value):

- observer.onNext(value)

- observer.onCompleted()

observer.send(value: value)

* observer.sendCompleted()

}
}

- return Disposables.create()



Action 7 7 ZX (1)

class APIClient {

func searchUsers(name: String) -> SignalProducer<[User], APIError> {
return ...

}

let apiClient = APIClient()

// searchUsers ZMU'HT Action ZEELTWEXT
let action = Action<String, [User], APIError> { input in

return apiClient.searchUsers(name: input) // @

// searchUsers ODfE% st
action.values.observeValues { (users: [User]) in

print(users) // @-A

// searchUsers DI S—%iE5
action.errors.observeValues { (error: APIError) in

print(error) // @-B

// "John" ZKYH—IC action ZXE{T
action.apply("John").start() // @



Action 7 7 ZX(2)
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